BID BOND

sphalt Partners, Ltd. dba ATS Construction
arance Company
•
NMENT
said Principal and the said Surety, bind and assigns, jointly and severally, firmly by
Sewer Project, Lexington, Kentucky
ne Principal within the period specified therein, ening, and the Principal shall enter into a sich bid, and give such bond or bonds as may event of the fallure of the Principal to enter into shall pay to the Obligee the difference in ount specified in said bid and such larger in another party to perform the work covered by a to remain in full force and effect. In no event
DENT, that any claim by Obligee under this attention of the Surety Law Department at the sull under this bond must be instituted before the provisions of this paragraph are void or to sureties as a defense in the jurisdiction of
<u>_</u>
L-M Asphalt Partners, Ltd. dba ATS Construction Principal R. Bully R (seal) Name: Title: Brian R. Billings, Vice President artford Fire Insurance Company Surety Namet Kim Watson Tille: Attorney-In-Fact

POWER OF ATTORNEY

Direct Inquiries/Claims to:

THE HARTFORD

BOND, T-4

One Hartford Plaza

Hartford, Connecticut 06155

call: 888-266-3488 or fax: 860-757-5835

Agency Code: 33-751009 & 14-732421

KNOW ALL PERSONS BY THESE PRESENTS THAT:

Х	Hartford Fire Insurance Company, a corporation duly organized under the laws of the State of Connecticut
X	Hartford Casualty Insurance Company, a corporation duly organized under the laws of the State of Indiana
X	Hartford Accident and Indemnity Company, a corporation duly organized under the laws of the State of Connecticut
	Hartford Underwriters Insurance Company, a corporation duly organized under the laws of the State of Connecticut
	Twin City Fire Insurance Company, a corporation duly organized under the laws of the State of Indiana
	Hartford Insurance Company of Illinois, a corporation duly organized under the laws of the State of Illinois
	Hartford Insurance Company of the Midwest, a corporation duly organized under the laws of the State of Indiana
	Hartford Insurance Company of the Southeast, a corporation duly organized under the laws of the State of Florida

having their home office in Hartford, Connecticut, (hereinafter collectively referred to as the "Companies") do hereby make, constitute and appoint, up to the amount of unlimited:

Russell Griffith, David Henry, Jerry Catlett, Kim Watson, Betty Royalty, John W. Hampton, Tina Carpenter

ot Lexington, KY

their true and lawful Attorney(s)-in-Fact, each in their separate capacity if more than one is named above, to sign its name as surety(ies) only as delineated above by \boxtimes , and to execute, seal and acknowledge any and all bonds, undertakings, contracts and other written instruments in the nature thereof, on behalf of the Companies in their business of guaranteeing the fidelity of persons, guaranteeing the performance of contracts and executing or guaranteeing bonds and undertakings required or permitted in any actions or proceedings allowed by law.

In Witness Whereof, and as authorized by a Resolution of the Board of Directors of the Companies on August 1, 2009 the Companies have caused these presents to be signed by its Vice President and its corporate seals to be hereto affixed, duly attested by its Assistant Secretary. Further, pursuant to Resolution of the Board of Directors of the Companies, the Companies hereby unambiguously affirm that they are and will be bound by any mechanically applied signatures applied to this Power of Attorney.



Wesley W. Cowling, Assistant Secretary

M. Ross Fisher, Vice President

STATE OF CONNECTICUT

COUNTY OF HARTFORD

S. Hartford

On this 12th day of July, 2012, before me personally came M. Ross Fisher, to me known, who being by me duly sworn, did depose and say: that he resides in the County of Hartford, State of Connecticut; that he is the Vice President of the Companies, the corporations described in and which executed the above instrument; that he knows the seals of the said corporations; that the seals affixed to the said instrument are such corporate seals; that they were so affixed by authority of the Boards of Directors of said corporations and that he signed his name thereto by like authority.

Kathleen T. Maynard
Kathleen T. Maynard

Notary Public

My Commission Expires July 31, 2016

I, the undersigned, Vice President of the Companies, DO HEREBY CERTIFY that the above and foregoing is a true and correct copy of the Power of Attorney executed by said Companies, which is still in full force effective as of August 8, 2017.

Signed and sealed at the City of Hartford.











CERTIFICATE







Gary W. Stumper, Vice President



MAYOR JIM GRAY



TODD SLATIN
DIRECTOR
CENTRAL PURCHASING

ADDENDUM #2

Bid Number: #59-2017

Date: August 1, 2017

Subject: Expansion Area 3 Trunk Sewer

Address inquiries to: Brian Marcum (859) 258-3320

TO ALL PROSPECTIVE SUBMITTERS:

Please be advised of the following clarifications to the above referenced bid:

Questions 1 and 33 in Addendum#1 were related to the award of the bid, the City of Lexington will evaluate the pricing differential related to wage rates from KIA funding versus local funding and determine what is in our best interest. KIA funding does involve additional paperwork and time on both sides and wage rates, but does offer low interest rates. LFUCG will look at all these factors to determine which funding to use.

Todd Slatin, Director Division of Central Purchasing

All other terms and conditions of the RFP and specifications are unchanged. This letter should be signed, attached to and become a part of your submittal.

COMPANY NAME: L-M Asphalt Partner, Ltd. dba ATS Construction

3009 Atkinson Avenue, Suite 400

ADDRESS: Lexington, Kentucky 40509

SIGNATURE OF BIDDER: SignAture V. P.

Brian R. Billings, Vice President





MAYOR JIM GRAY



CHARLES MARTIN DIRECTOR WATER QUALITY

ADDENDUM No. 1

Bid Number: #59-2017

Date: August 1, 2017

Subject: Expansion Area 3 Trunk Sewer

Address inquiries to: Brian Marcum

brianm@lexingtonky.gov

(859) 258-3325

TO ALL PROSPECTIVE SUBMITTERS:

Please be advised of the following clarifications to the above referenced Bid:

200	Questions	Answers
1.	Basis of award – two bid schedules, one for KIA and one for local option.	
2.	DBE participation goal required on both schedules?	Yes.
3.	Backfilling of the trench required daily?	Open excavations must be backfilled daily. When backfill cannot be completed daily, excavation shall be protected with chain link fence.
4.	Is access to the training facility required to be maintained?	Yes
5.	What are the working hours on these farms?	Construction hours shall be from 7am to 5pm, Monday through Friday. Farm operating hours are as follows: Eaton Farms: 7:00am to 4:00pm (2 employees live on farm in a mobile home and a guard runs between tenant's properties at night.) Victory Haven: 4:30am to 6:00pm Dr. Cummins: Farm: 7:00am to 4:30 pm. Office: 8:00am to 6:00pm.
6.	Will there be horses in the paddocks during construction?	Yes.
7.	Can trees along road on Victory Haven be cut?	Yes.





HAYOR JIM GRAY



CHARLES MARY IN DIRECTOR WATER DUALITY

8.	How will stone backfill be calculated for payment?	Shown on Plan Sheet D-1 and described in Spec. Section 1025.
9.	How will the allowances for the Rock Fences be calculated?	Dry stacked stone walls are considered a historic resource and must be repaired by qualified stone masons. Pre-Qualified stone masons can be found at: http://www.drystone.org/masons/ . The contractor must submit documentation indicating a qualified mason has been selected to perform the work and must then be approved by the engineer of record prior to doing the work. Invoices for this work, not exceeding the allowance, will be submitted for payment.
10.	Will traffic have to be maintained on the farms?	Yes.
11.	Will there be alternate parking for the farm employees on Victory Haven?	Yes.
12.	Can rock removed from the trench be crushed and used for stone bedding/backfiil?	Yes. As long as the crushed rock meets the requirements of the backfill in the plans/specs. Crushed stone may only be used outside of the pipe envelope. The pipe envelope must remain as No. 9 stone.
13.	Who will make the connection at the pump station?	The pump station contractor.
14.	Will the job have to be recorded by camera?	Yes. A pre-construction video of the site must be made. A copy of the video is to be submitted to the DWQ.
15.	What is the compaction required for the trench backfill in the paddocks?	In order to minimize settling contractor shall compact the backfill in appropriate lifts in order to achieve 95% of the standard proctor density test throughout.
16.	Can you address which manholes will require Conshield and Xypex per spec 20608-1 Sections D. It states 2000' downstream. I don't see any manhole within 2000'. But I know that there is a force main that will connect to this job in the future.	All manholes require Xypex, no manholes require Conshield.





MAYOR JIM GRAY



CHARLES MARTIN DIRECTOR WATER QUALITY

17.	When do you expect a Notice to Proceed will be granted or your expectation of the project getting started?	It is anticipated that the notice to proceed will follow within 10-14 days after the bid is awarded.
18.	MH-10-MH-18 is designed to be constructed in the middle of the road will this road be able to be completely closed during construction due to extremely large machines taking up all the roadway prior and during installation of sewer?	No. Per the MOU requirements, the contractor shall keep the farms in operation during construction. This would include traffic to and from barns, paddocks, the track on Victory Haven and other facilities as required per individual farm.
19.	Could you send me any contact information for the property owners? I glanced in the specs and didn't see any information on the easements I apologize if I overlooked this information.	The arranged site visit following the pre-bid meeting was the only approved access time prior to bidding. No property owner contact information will be provided at this lime.
20.	Can I get a copy of the sign in sheet from the Pre Bid meeting we had on Tuesday for the sewer trunk line?	A scanned copy of the sign in sheet is attached the end of this addendum.
21.	Can the manholes be moved horizontally to avoid obstacles?	Any changes to the contract documents will require approval by the engineer of record and the owner.
22.	Can the easement be widened? It seems exceptionally inadequate for laying 30" pipe, 20'-30' deep.	No.
23.	We were advised in the pre bid that contacting the owners was not allowed. Therefore, please advise as to whether or not the owners would be open to a wider easement.	Due to lengthily negations to obtain the current easements, it is unlikely that the owners would be open to additional easement widths.
24.	If pond is affected by blasting, who is responsible for cost of repairs?	The contractor.
25.	Will dust control be more stringent, due to horses nearby?	Dust Control shall be per spec section 01560- 1.04, Dust Control.





HAYOR JIM GRAY



CHARLES MARTIN DIRECTOR VVATER QUALITY

26.	Are there any noise restrictions, due to horses?	Noise Control shall be per spec section 01560- 1.03, Noise Control.
27.	Can the water flow in the asbestos concrete pipe be shut off or decreased during blasting?	That would need to be coordinated with Kentucky American Water, the owner of the water line and the engineer of record.
28.	What type of surface must be maintained for farm traffic? Width?	A 10-foot wide (minimum) gravel (DGA or #57 stone) temporary road.
29.	What is the longest allowable delay for traffic passing through work area?	Access to training facility must be maintained at all times. Any proposed delays must be submitted to the engineer and owner as part of the traffic control submittal.
30.	Are temporary utility interruptions allowed and if so, for what period of time?	No utility interruptions are permissible, temporary connections shall be made if a disruption in service is required.
31.	Please clarify the disposition of trees removed inside the easement. Leave stumps? Replaced? Etc.	The trees along the fence line separating Anderson-Ramsey and Victory Haven (60+56.42 to 61+98.50) are to be removed, including their stumps and roots, and are NOT to be replaced. The remaining trees may be removed, but must be replaced with 1.5-inch caliper minimum trees during restoration. The tree type and placement shall be approved by the engineer.
32.	Is there any other geotechnical data available that would include information on soils, rock, etc.	No.
33.	How will the project be awarded if one contractor is low on schedule A and a different contractor is low on schedule B? Please be specific.	





MAYOR JIM GRAY



CHARLES MARTIN DIRECTOR WATER QUALITY

1. CLARIFICATIONS

A. "Thrust blocks" indicated in the general information below, in the detail on plan sheet D-3, and elsewhere in the contract documents may also be referred to as "concrete cap blocks".

2. DRAWINGS

A. None.

3. SPECIFICATIONS

A. None.

4. GENERAL INFORMATION

- A. There was water found at a shallow depth when locating the pond discharge pipe.
- B. Rock Boring information shown in the plans is depth to rock (depth to refusal) and was taken at each manhole and intervals of 50' between manholes.
- C. There are thrust blocks on the lateral and the contractor's attention is necessary to insure these blocks are secure as the main truck line could be active prior to the lateral connections.

DBE Clarifications

LFUCG has a 10% MWDBE and a 3% veteran participation goals on projects that contractors must make a Good Faith Effort to meet. Due to both federal and local government funding being used on this project the EPA MWDBE Subcontractor Participation forms must be submitted with the bids.

- 1. There are no mandated or required goals for this project.
- 2. If the MWDBE 10% goal and 3% veteran goals are not met, the Contractor is required to submit the EPA's Six Good Faith Efforts on pages 00410-21 & 0410-22, and LFUCG's Good Faith Effort documentation that is included in the Addendum.





MAYUR JIM GRAY



CHARLES MARTIN DIRECTOR WATER QUALITY

Please complete the attached forms along with the EPA DBE Compliance forms in the Project specification book and submit with your bid.

Todd Slatin, Director Division of Central Purchasing

All other terms and conditions of the Bid and specifications are unchanged. This letter should be signed, attached to and become a part of your Bid.

OMPANY NAME:	L-M Asphalt Partners, Ltd. dba ATS Construction
_	3009 Atkinson Avenue, Suite 400
ADDRESS:	Lexington, Kentucky 40509
SIGNATURE OF BID	DER: Brian R. Billings, Vice President





Expansion Area 3 Trunk Sewer Project

Division of Water Quality Lexington-Fayette Urban County Government

LFUCG Bid No. 59-2017

1.01 GENERAL						
Place: <u>Lexington, Kentucky</u>			D)ate:	August 8, 2017	
The following Bid Form shall be	followed exactly i	n submitting a Bid fo	r this Work.			
This Bid Form Submitted by	L-M Asphal	t Partners, Lt	d. dba ATS	S Con	struction	
	3009 Atkin	son Avenue, Su	ite 400, I	Lexin	gton, Kentucky 4050	9
		(Name and Addre	ss of Bidder)			
(Hereinafter called "Bidder"), org	anized and existi	ng under the laws of	the State of _	Kent	tucky, doing	
business as A Partne	ership "					
"a corpora	ation," "a partners	hip", or an "individua	l" as applicat	ble	•	
(Hereinafter call Office of the Dire	ector of Central P Street, Room 338					
The Bidder, in compliance with y Project; Lexington, Kentucky, ha Specifications with related docur with all of the conditions and any including the availability of mater supplies, and to construct the Protherein, and at the unit prices staperforming the Work required un The Bidder hereby agrees to con "Notice to Proceed" of the Ownerive (365)] consecutive calendar	aving examined the ments, having examined and all addendurates and labor, he oject in accordant at the Contract of the Contract of the Contract and to substantidays. Bidder furtile	ne Contract Documents arnined the site for proms surrounding the description of the contract of the complete the Property of the complete the comple	nts including the oposed Work construction of the open all labor, Documents, we cover all expendent this Bid is a part of the spect within [the open all damaged damaged damaged damaged damaged within [the open all laborated damaged damage	the Plant, and but the property of the propert	ns and peing familiar roposed Project, als, and the time set forth the curred in d in a written the dine and sixty-	
1,000. Dollars and 00 cents (\$1			ereaner.			
The Bidder hereby acknowledge		llowing addenda:				
Addendum No. 1 Date 8/1	/201/ ;	Addendum No	Date			
Addendum No. 2 Date 8/1	<u>/2017</u> ; /	Addendum No	Date			
Addendum No Date	; /	Addendum No	Date			
Addendum No Date	; /	Addendum No	Date			
Insert above the number and the and received, the word "NONE" :			ceived. If non	ne has l	been issued	

02	LE	GAL	STATUS OF BIDDER	L	Suite 400 exington, Kentucky
dder	1	L- M	Asphalt Partners, Ltd. dba ATS Construction	n	
ıte		Aug	ıst 8, 2017		
	XXX	(A).014	RECORDED DE COMPANIO DE COMPANIO DE COMPANIO DE LA COMPANIO DE LA COMPANIO DE COMPANION DE COMPANIO DECOMPANIO DE COMPANIO DE	Kieras (P. Chross)	<u> </u>
	XXX	XTOK (7 (5.65). <u>0.000</u> 0.000	XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX	(K) OXXXXXX
	*B.		artnership, all of the members of which, with addresses are: (such)	Designate general	partners
		L-	M Holdings, Inc.	Sole General I	Partner
		St	even L. Lawson	Limited Partne	eT
		St	even Adam Lawson l	Limited Partne	er
		Ту	ler George Lawson	Limited Partne	er
		Sh	elby Mary Ann Lawson	Limited Partne	er
	***	A GIAN	intervente surrectionen tillen som som ser sinder stationer.	***	XXXXXXXXXX
	A. A. A.	V. V.			
		_			

^{*} The Bidder shall fill out the appropriate form and strike out the other two.

1.03 BIDDERS AFFIDAVIT



Co	mes the Affiant, Brian R. Bil	lings	, and after being first
	y sworn, states under penalty of perjury		
	Brian	R. Billings	
A.	His/her name is	Rid or is the authorized represe	and
<u> </u>	—M Asphalt Partners, Ltd. d the Bid (hereinafter referred to as "Bide		, the entity submitting
	•		W 111 O
В.	Bidder will pay all taxes and fees, whice Government at the time the Bid is sub- maintain a "current" status in regard to	nitted, prior to award of the Agi	reement and will
C.	Bidder will obtain a Lexington-Fayette applicable, prior to award of the Agree	Urban County Government bus ment.	siness license, if
D.	Bidder has authorized the Division of C information with the Division of Revent taxes and/or fees are delinquent or that	ue and to disclose to the Urban	County Council that
E.	Bidder has not knowingly violated any Commonwealth of Kentucky within the the Bidder will not violate any provision	past five (5) years and the awa	ard of an Agreement to
F.	Bidder has not knowingly violated any County Government Code of Ordinano	provision of Chapter 25 of the less, known as the "Ethics Act."	exington-Fayette Urban
G.	Bidder acknowledges that "knowingly" conduct or to circumstances described person is aware or should have been a circumstance exists.	l by a statute or ordinance defii	ning an offense, that a
Further, Af	iant sayeth naught.	Affiant Signature Brian R. Billings, V	e lce President
STATE OF	Kentucky		
COUNTY	F Fayette		
The forego	ing instrument was subscribed, sworn to	and acknowledged before me	by by
Bria	n R. Billings	on this the 8th. day of	August 20 17
My Commi	ssion expires: April 22	2020	7
	NOTARY PUBLIC ON NOTARY ID SSINTS	OTARY PUBLIC, STATE AT L Richard L. Craycraft	ARGE
RMP Specific NEI #665.35	ations ARGE, KE DOWN 00410	O-3 Expans	ion Area 3 Trunk Sewer Project Project ID CR-4



1.04 BID SCHEDULE(S)

The Bidder agrees to perform all the Work described in the Specifications and shown on the Plans for the following proposed lump sum and/or unit prices, if applicable, which shall include the furnishing of all labor, materials, supplies, equipment and/or vehicle usage, services, all items of cost, overhead, taxes (federal, state, local), and profit for the Contractor and any Subcontractor involved, within the time set forth herein. If unit prices are applicable, Bidder must make the extensions and additions showing the total amount of Bid. In all cases of discrepancies or math errors the amount written in for the unit price of an item shall govern.

If a discrepancy between the unit price and the item total exists, the unit price prevails except:

If the unit price is illegible, omitted, or the same as the item total, item total prevails and the unit price is the quotient of the item total and the quantity.

If the unit price and the item total are illegible or are omitted, the bid may be determined nonresponsive. If a lump sum total price is illegible or is omitted, the bid may be determined nonresponsive.

For a lump sum based bid, the item total is the bid amount the Owner uses for bid comparison.

For a unit price based bid, the sum of the item totals is the bid amount the Owner uses for bid comparison.

The Owner's decision on the bid amount is final.

Notice to Bidders

There are two Bid Forms for this Project. Both forms must be completed and submitted to comply with being a responsive bidder;

<u>Bid Schedule A</u> — Unit prices on this schedule shall be determined including Davis Bacon Wage Rates

<u>Bid Schedule B</u> – Unit prices on this schedule shall be determined without including Davis Bacon Wage Rates.

BID SCHEDULE-A (using Davis Bacon Wage Rates)

Project; LFUCG # 59-2017

rev 6-12-17

	FUCG # 59-2017		·		164 0-12-17
Item	Description	Qty	Unit	Unit Price	item Price
_ 1	Mobilization	1	LS	60,000.00	60,000.00
2	Bonds and Insurance	1	LS	58,000.00	58,000.00
3	General Requirements	1	LS	177,000.00	177,000.00
4	Demobilization	1	LS	2,000.00	2,000.00
5	Erosion and Sediment Control and Conformance with SWPPP	1	LS	49,400.00	49,400.00
6a	30" Gravity Sewer Pipe (DIP, FRPM, PVC) 10.1' – 14.0' Depth	826	LF	125.00	103,250.00
6b	30" Gravity Sewer Pipe (DIP, FRPM, PVC) 14.1' – 18.0' Depth	2,227	LF	150.00	334,050.00
6c	30" Gravity Sewer Pipe (DIP, FRPM, PVC) 18.1' -22.0' Depth	1,537	LF	200.00	307,400.00
6d	30" Gravity Sewer Pipe (DIP, FRPM, PVC) 22.1' -26.0' Depth	1,274	LF	215.00	273,910.00
6e	30" Gravity Sewer Pipe (DIP, FRPM, PVC) Greater than 26.0' Depth	835	LF	305.00	254,675.00
7	48-inch Steel Encasement Pipe, 30-inch carrier pipe, bore and jack	56	LF	1,300.00	72,800.00
8	Stone Backfill under pavement for Sewer Pipe	7,250	Ton	20.00	145,000.00
9a	Manholes, 5-foot diameter (depth 10.1' – 14.0')	3	EA	9,500.00	28,500.00
9Ь	Manholes, 5-foot diameter (depth 14.1' – 18.0')	9	EA	10,000.00	90,000.00
9c	Manholes, 5-foot diameter (depth 18.1'-22.0')	7	EA	11,000.00	77,000.00
9d	Manholes, 5-foot diameter (depth 22.1'-26.0')	4	EA	13,500.00	54,000.00
9e	Manholes, 5-foot diameter greater than 26.0'	6	EA	14,000.00	84,000.00
10	Manhole Barrel Extensions, 5 - ft. diameter	10	VF	220.00	2,200.00
11	Video Inspection - Sewer Pipe including MH's	6,773	LF	2.00	13,546.00
	4				

(using Davis Bacon Wage Rates)

	tusing Da		· ··		•
12	Seeding, Temporary, Extra as directed by Engineer	19,082	SY	0.31	5,915.42
13a	Site Restoration Method A	5,000	SY	5.50	27,500.00
13b	Site Restoration Method B	15,189	SY	0.74	11,239.86
13c	Site Restoration Method C	5,000	SY	1.35	6,750.00
14	Tree Removal, > 12" Diameter	5	EA	1,500.00	7,500.00
15	Bituminous Concrete: Full Width Paving, Private Rd.	12,967	SY	14.88	192,948.96
16	Existing Fence/Gate Removal	4,235	LF	3.50	14,822.50
17	Temporary 5 - ft.Woven Wire Fencing & Gates with steel "T" posts	4,200	LF	6.50	27,300.00
18	Temporary 4-Plank Oak Fencing (unpainted)	390	LF	14.00	5,460.00
19	Plank Fence/Gate Replacement	4,400	LF	16.00	70,400.00
20	Rock Removal	1,875	CY	90.00	168,750.00
21a	Storm Sewer Replacement (12" - RCP)	85	LF	42.00	3,570.00
21b	Storm Sewer Replacement (15" - RCP)	65	LF	45.00	2,925.00
21c	Storm Sewer Replacement (18" - RCP)	50	LF	55.00	2,750.00
21d	Storm Sewer Replacement (24" - RCP)	50	LF	75.00	3,750.00
21e	Storm Sewer Replacement (30" - RCP)	50	LF	90.00	4,500.00
22a	Precast Concrete Headwall (12" RCP Pipe)	2	EA	750.00	1,500.00
22b	Precast Concrete Headwall (15" RCP Pipe)	2	EA	850.00	1,700.00

(using Davis Bacon Wage Rates)

	(using Dav	AIZ DACOL	i wage r	ates)	_
22c	Precast Concrete Headwall (18" RCP Pipe)	2	EA	1,050.00	2,100.00
22d	Precast Concrete Headwall (24" RCP Pipe)	2	EA	1,200.00	2,400.00
22e	Precast Concrete Headwall (30" RCP Pipe)	2	EA	1,500.00	3,000.00
23	Dense Grade Aggregate – DGA, Extra as directed by Engineer	100	Ton	24.00	2,400.00
24	No. 9 Crushed Stone, Extra as directed by Engineer	100	Ton	25.00	2,500.00
25	No. 57 Crushed Stone, Extra as directed by Engineer	100	Ton	22.00	2,200.00
26	No. 2 Crushed Stone, Extra as directed by Engineer	100	Ton	26.00	2,600.00
27	Flowable (Controlled Density) Fill	100	СҮ	120.00	12,000.00
28	Combination Vacuum/Hydraulic Jet/Hydro Excavator, extra as directed by Engineer	40	HR	285.00	11,400.00
29	Backhoe/Extend-a-hoe, extra as directed by Engineer	40	HR	95.00	3,800.00
30	Hoe Ram, extra as directed by Engineer	40	HR	195.00	7,800.00
31	Dump Truck, Single Axle, extra as directed by Engineer	40	HR	70.00	2,800.00
32	Dump Truck, Tandem or Tri-Axle, extra as directed by Engineer	40	HR	95.00	3,800.00
33	Large Track Hoe, CAT 311 or Equivalent, extra as directed by Engineer	40	HR	65.00	2,600.00
34	Small Track Hoe, CAT 301 6C or Equivalent, extra as directed by Engineer	40	HR	60.00	2,400.00
35	Skid-Steer Loader, extra as directed by Engineer	40	HR	90.00	3,600.00
36	Roller/Compactor, extra as directed by Engineer	40	HR	95.00	3,800.00
37	Site Work Concrete, 3500 PSI	25	SY	250.00	6,250.00

ATS CONSTRUCTION

(using Davis Bacon Wage Rates)

Sc	TOTAL BID (Items 1 thru_hedule A (using Davis Bacon V		tes)	\$	3,213,462.74
40	Miscellaneous Site Improvements (Allowance)	1	LS	350,000.00	350,000.0 0
39	Rock Fence (See Photo VH- 200-ft. mortar laid) (Allowance)	1	LS	20,000.00	20,000.00
38	Rock Fence (See Photo RC - 50-ft. dry Iaid) (Allowance)	1	LS	20,000.00	20,000.00

All quantities shall be verified from Final Plans, prior to bidding.

Total Base Bi	d Amount - Schedu	le A (In Words):	
ree Million Two Hundred Th	irteen Thousand Four H	undred Sixty-Two Dollars and	Seventy-Four Cents

SCHEDULE A



TOTAL BID AMOUNT:
Three Million Two Hundred Thirteen Thousand Four Hundred Sixty Two Dollars
and Seventy Four Cents Dollars (\$ 3,213,462.74
Respectfully Submitted,
FIRM: L-M Asphalt Partners, Ltd. dba ATS Construction
ADDRESS: 3009 Atkinson Avenue, Suite 400
CITY/STATE/ZIP: Lexington, Kentucky 40509
DATE: August 8, 2017
BY: Brilly V-P. (must be original signature)
TITLE: Brian R. Billings, Vice President
PHONE: Cell (859) 327-4533 FAX: (859) 231-0946
(area code, number & extension)
EMAIL ADDRESS: bbillings@atsconstruction.com
OFFICIAL ADDRESS AND PHONE:
L-M Asphalt Partners, Ltd. dba ATS Construction
3009 Atkinson Avenue, Suite 400
Lexington, Kentucky 40509 (Seal if Bid is by Corporation)

By signing this form you agree to all of the terms and associated forms.

(without using Davis Bacon Wage Rates)

Project; LFUCG # 59-2017

rev 6-12-17

Item	Description	Qty	Unit	Unit Price	Item Price
1	Mobilization	1	LS	60,000.00	60,000.00
2	Bonds and Insurance	1	LS	58,000.00	58,000.00
3	General Requirements	1	LS	158,000.00	158,000.00
4	Demobilization	1	LS	2,000.00	2,000.00
5	Erosion and Sediment Control and Conformance with SWPPP	1	LS	45,100.00	45,100.00
6a	30" Gravity Sewer Pipe (DIP, FRPM, PVC) 10.1' – 14.0' Depth	826	LF	120.00	99,120.00
6b	30" Gravity Sewer Pipe (DIP, FRPM, PVC) 14.1' – 18.0' Depth	2,227	LF	125.00	278,375.00
6c	30" Gravity Sewer Pipe (DIP, FRPM, PVC) 18.1' -22.0' Depth	1,537	LF	175.00	268,975.00
6d	30" Gravity Sewer Pipe (DIP, FRPM, PVC) 22.1' -26.0' Depth	1,274	LF	190.00	242,060.00
6e	30" Gravity Sewer Pipe (DIP, FRPM, PVC) Greater than 26.0' Depth	835	LF	270.00	225,450.00
7	48-inch Stee! Encasement Pipe, 30-inch carrier pipe, bore and jack	56	LF	1,050.00	58,800.00
8	Stone Backfill under pavement for Sewer Pipe	7,250	Ton	20.00	145,000.00
9a	Manholes, 5-foot diameter (depth 10.1' – 14.0')	3	EA	7,500.00	22,500.00
9Ь	Manholes, 5-foot diameter (depth 14.1' – 18.0')	9	EA	8,000.00	72,000.00
9c	Manholes, 5-foot diameter (depth 18.1'-22.0')	7	EA	8,500.00	59,500.00
9d	Manholes, 5-foot diameter (depth 22.1'-26.0')	4	EA	9,500.00	38,000.00
9e	Manholes, 5-foot diameter greater than 26.0'	6	EA	10,000.00	60,000.00
10	Manhole Barrel Extensions, 5 - ft. diameter	10	VF	150.00	1,500.00
11	Video Inspection - Sewer Pipe including MH's	6,773	LF	2.00	13,546.00

(without using Davis Bacon Wage Rates)

	(Without usin)	Panis P	acon we	EC Marca	
12	Seeding, Temporary, Extra as directed by Engineer	19,082	SY	0.31	5,915.42
13a	Site Restoration Method A	5,000	SY	5.50	27,500.00
13b	Site Restoration Method B	15,189	SY	0.74	11,239.86
13c	Site Restoration Method C	5,000	SY	1.35	6,750.00
14	Tree Removal, > 12" Diameter	5	EA	1,500.00	7,500.00
15	Bituminous Concrete: Full Width Paving, Private Rd.	12,967	SY	14.13	183,223.71
16	Existing Fence/Gate Removal	4,235	LF	3.50	14,822.50
17	Temporary 5 - ft.Woven Wire Fencing & Gates with steel "T" posts	4,200	LF	6.50	27,300.00
18	Temporary 4-Plank Oak Fencing (unpainted)	390	LF	14.00	5,460.00
19	Plank Fence/Gate Replacement	4,400	LF	16.00	70,400.00
20	Rock Removal	1875	CY	90.00	168,750.00
21a	Storm Sewer Replacement (12" - RCP)	85	LF	38.00	3,230.00
21b	Storm Sewer Replacement (15" - RCP)	65	LF	40.00	2,600.00
21c	Storm Sewer Replacement (18" - RCP)	50	LF	45.00	2,250.00
21d	Storm Sewer Replacement (24" - RCP)	50	LF	64.00	3,200.00
21e	Storm Sewer Replacement (30" - RCP)	50	ĹF	92.00	4,600.00
22a	Precast Concrete Headwall (12" RCP Pipe)	2	EA	760.00	1,520.00
22b	Precast Concrete Headwall (15" RCP Pipe)	2	EA	760.00	1,520.00

(without using Davis Bacon Wage Rates) ___

_	(Without using	Davis D	acon was	Ec itates)	
22c	Precast Concrete Headwall (18" RCP Pipe)	2	EA	900.00	1,800.00
22d	Precast Concrete Headwall (24" RCP Pipe)	2	EA	900.00	1,800.00
22e	Precast Concrete Headwall (30" RCP Pipe)	2	EA	1,400.00	2,800.00
23	Dense Grade Aggregate – DGA, Extra as directed by Engineer	100	Ton	22.00	2,200.00
24	No. 9 Crushed Stone, Extra as directed by Engineer	100	Ton	24.00	2,400.00
25	No. 57 Crushed Stone, Extra as directed by Engineer	100	Ton	20.50	2,050.00
26	No. 2 Crushed Stone, Extra as directed by Engineer	100	Ton	24.00	2,400.00
27	Flowable (Controlled Density) Fill	100	CY	120.00	12,000.00
28	Combination Vacuum/Hydraulic Jet/Hydro Excavator, extra as directed by Engineer	40	HR	285.00	11,400.00
29	Backhoe/Extend-a-hoe, extra as directed by Engineer	40	HR	60.00	2,400.00
30	Hoe Ram, extra as directed by Engineer	40	HR	160.00	6,400.00
31	Dump Truck, Single Axle, extra as directed by Engineer	40	HR	65.00	2,600.00
32	Dump Truck, Tandem or Tri-Axle, extra as directed by Engineer	40	HR	90.00	3,600.00
33	Large Track Hoe, CAT 311 or Equivalent, extra as directed by Engineer	40	HR	80.00	3,200.00
34	Small Track Hoe, CAT 301 6C or Equivalent, extra as directed by Engineer	40	HR	60.00	2,400.00
35	Skid-Steer Loader, extra as directed by Engineer	40	HR	70.00	2,800.00
36	Roller/Compactor, extra as directed by Engineer	40	HR	65.00	2,600.00
37	Site Work Concrete, 3500 PSI	25	SY	250.00	6,250.00

ATS CONSTRUCTION

(without using Davis Bacon Wage Rates)

	(Without asing		40011 114	Ac marco,	
38	Rock Fence (See Photo RC - 50-ft. dry laid) (Allowance)	1	LS	20,000.00	20,000.00
39	Rock Fence (See Photo VH- 200-ft. mortar laid) (Allowance)	1	LS	20,000.00	20,000.0 <mark>0</mark>
40	Miscellaneous Site Improvements (Allowance)	1	LS	350,000.00	350,000.0 0
Sch	TOTAL BID (Items 1 thru edule B (w/o Davis Bacon)		ates)	\$	2,916,807.49

All quantities shall be verified from Final Plans, prior to bidding.

Total Ba	se Bid Amount	t - Schedul	e B (In Word	s):	
vo Million Nine Hundr	ed Sixteen Thousa	nd Eight Hund	dred Seven Doll	ars and Forty-Nine (Cents
					<u></u>

SCHEDULE B

TOTAL BID AMOUNT:
Two Million Nine Hundred Sixteen Thousand Eight Hundred Seven Dollars and
Fourty Nine Cents
Respectfully Submitted,
FIRM: L-M Asphalt Partners, Ltd. dba ATS Construction
ADDRESS: 3009 Atkinson Avenue, Suite 400
CITY/STATE/ZIP: Lexington, Kentucky 40509
DATE: August 8, 2017
BY: By B. Bellis V.P.
(must be original signature)
TITLE: Brian R. Billings, Vice President
PHONE: Cell (859) 327-4533 FAX: (859) 231-0946
(area code, number & extension)
EMAIL ADDRESS: bbillings@atsconstruction.com
OFFICIAL ADDRESS AND PHONE:
L-M Asphalt Partners, Ltd. dba ATS Construction
3009 Atkinson Avenue, Suite 400
Lexington, Kentucky 40509 (Seal if Rid is by Corporation)

By signing this form you agree to all of the terms and associated forms.

1.05 STATEMENT OF BIDDER'S QUALIFICATIONS

The following statement of the Bidder's qualifications is required to be filled in, executed, and submitted with the Bid:

	A.	Name of Bidder:	L-M As	phalt Part	ners, Lt	d. dba ATS	Construction
	В.	Permanent Place of		tkinson Av s: <u>Lexi</u>	renue, Su Ington, K	ite 400 <u>entucky 40</u>	509
	C.	When Organized:	Apri.	1 1992			
	D.	Where Incorporate	ed: _	Kentucky	r		
	E.	Financial Condition	າ:				
		If specifically reque three (3) years aud within seven (7) ca	lited financ	ial statement	s to the Own	er's Division of	uired to submit its latest Central Purchasing
	F.	In the event the Ag and Sediment Con	reement is trol, and W	awarded to t arranty bond	he undersigi s will be furn	ned, Performar ished by:	nce, Payment, Erosion
		Hartford	Fire I	nsurance (Company		(Surety)
		Signed:	- Wa	itsia		(Repres	entative of Surety)
	G.	The following is a linecessary).	ist of simila	ar projects pe	formed by th	ne Bidder: (Att	ach separate sheet if
		<u>NAME</u>		LO	CATION		CONTRACT SUM
			_ See	Attachmen	nt " B "	· · · · · · · · · · · · · · · · · · ·	
		·-·					
	H.	The Bidder has not	w under co	ntract and bo	nded the foli	owing projects:	:
		NAME		LO	CATION		CONTRACT SUM
			– See	Attachmen	at " C "		
			-				
						 -	
							
<u>-</u> -					····		

List Key Bidder Person	nel who will work on this Project.		Lexington, Kentucky 40509
NAME	POSITION DESCRI	PTION	NO. OF YEARS WITH BIDDER
	See Attachment " D	н	
L MWDBE Participation	on current bonded projects under	contract:	
J. MWDBE Participation SUBCONTRACTORS (LIST)	on current bonded projects under PROJECT (SPECIFIC TYPE)	contract:	% of WORK
SUBCONTRACTORS	PROJECT		% of WORK
SUBCONTRACTORS	PROJECT		% of WORK
SUBCONTRACTORS	PROJECT		% of WORK
SUBCONTRACTORS	PROJECT		% of WORK

(USE ADDITIONAL SHEETS IF NECESSARY)

K. We acknowledge that, if we are the apparent low Bidder, we may be required to submit to the Owner within seven (7) calendar days following the Bid Opening, a sworn statement regarding all office management and field management personnel. Additionally, if requested by the Owner, we will within seven (7) days following the request submit audited financial statements and loss history for insurance claims for the three (3) most recent years (or a lesser period if stipulated by the Owner)



1.06 LIST OF PROPOSED SUBCONTRACTORS

The following list of proposed subcontractors is required by the Owner to be executed, completed and submitted with the Bid Form. All subcontractors are subject to approval of the Lexington-Fayette Urban County Government. Failure to submit this list completely filled out may be cause for rejection of Bid.

		aupoor"	TRACTOR	MWDBE (yes/no)	% of <u>WORK</u>
BRA (List	NCH OF WORK** each major item)	SUBCON	TRACTOR	MINDOL (1-0-1-	
		Name:	own TA Earth, LLC	No	1.3
		Address:	2580 Heaton Ford Road		
			Science Hill, Kentuck	y 42553–7222	
2	Pipe Cleaning	Name: _1	Pipe Eyes, LLC	No	0.4
	and Inspection	Address:	145 Smith Lane		
		, (00, 000.	Louisville, Kentucky	40229	
3		Name:	GECO Enterprises, Inc.	Yes	4.3
	(Sewer Pipe)	Address:	P. O. Box 463		
			London, Kentucky 407	43	
4.		-	Semper Tek, Inc.	Yes	3.4
	(Pre-Cast Struct	ires)	848 Nandino Boulevard	Veteran	
		Address:	Lexington, Kentucky	40511	
5.	Seeding / Fencing	Name:	N. H. Stone, Inc.	Yes	
			P. O. Box 239		
			Sharpsburg, Kentucky	40374	
6		Name: _			
		Address:			

^{**} Such as: Grading, bituminous paving, concrete, seeding and protection, construction staking, etc.



The above % of Work is Based on the Bid Schedule " A " - Using Davis Bacon Wage Rates



1.07 AUTHENTICATION OF BID AND STATEMENT OF NON-COLLUSION AND NON-CONFLICT OF INTEREST

I hereby swear (or affirm) under the penalty for false swearing:

- A. That I am the Bidder (if the Bidder is an individual), a partner of the Bidder (if the Bidder is a partnership), or an officer or employee of the Bidding corporation having authority to sign on its behalf (if the Bidder is a corporation);
- B. That the attached Bid has been arrived at by the Bidder independently, and has been submitted without collusion with, and without any agreement, understanding or planned common course of action, with any other contractor, vendor of materials, supplies, equipment or services described in the Advertisement for Bid, designed to limit independent bidding or competition;
- C. That the contents of the Bid or Bids have not been communicated by the Bidder or its employees or agents to any person not an employee or agent of the Bidder or its surety on any bond furnished, with the Bid or Bids, and will not be communicated to any such person, prior to the official opening of the Bid or Bids;
- That the Bidder is legally entitled to enter into the contracts with the Lexington-Fayette Urban County Government, and is not in violation of any prohibited conflict of interest;
- E. (Applicable to corporation only) That as a foreign corporation, we are registered with the Secretary of State, Commonwealth of Kentucky, and authorized to do business in the State______ or, that as a domestic corporation, we are in good standing with the Secretary of State, Commonwealth of Kentucky______. [Check the statement applicable.]
- F. This offer is for ninety (90) calendar days from the date this Bid is opened. In submitting the above, it is expressly agreed that, upon proper acceptance by the Lexington-Fayette Urban County Government of any or all items Bid above, an Agreement shall thereby be created with respect to the items accepted.
- G. That I have fully informed myself regarding the accuracy of the statements made in this statement.
- H. That I certify that Subcontractors have not and will not be awarded to any firm(s) that have been debarred from noncompliance with the Federal Labor Standards, Title VI of the Civil Rights Act of 1964 As Amended, Executive Order 11246 As Amended or any other Federal Law.

L-M Asphalt Partners, Ltd. dba ATS Construction

August 8, 2017
Date

Representative

Brian R. Billings, Vice President

Company

1.08 STATEMENT OF EXPERIENCE



NAME OF INDIVIDUAL:	See Attachment "D"	
_		
POSITION/TITLE:		
STATEMENT OF EXPERIENCE:		
NAME OF INDIVIDUAL: _		
POSITION/TITLE:		
NAME OF INDIVIDUAL:		
POSITION/TITLE:		
STATEMENT OF EXPERIENCE:		
NAME OF INDIVIDUAL:		
POSITION/TITLE:		
STATEMENT OF EXPERIENCE:		

^{*} Include all officers, office management, Affirmative Action officials, and field management personnel. Attach separate sheets if necessary.

1.09 EQUAL OPPORTUNITY AGREEMENT



The Law

- Title VII of the Civil Rights Act of 1964 (amended 1972) states that it is unlawful for an employer to discriminate in employment because of race, color, religion, sex, age (40-70 years) or national origin.
- Executive Order No. 11246 on Nondiscrimination under Federal contract prohibits employment discrimination by contractor and subcontractor doing business with the Federal Government or recipients of Federal funds. This order was later amended by Executive Order No. 11375 to prohibit discrimination on the basis of sex.
- Section 503 of the Rehabilitation Act of 1973 States:

The Contractor will not discriminate against any employee or applicant for employment because of physical or mental handicap.

- Section 2012 of the Vietnam Era Veterans Readjustment Act of 1973 requires Affirmative Action on behalf of disabled veterans and veterans of the Vietnam Era by contractors having Federal Contracts.
- Section 206 (A) of Executive Order 12086, Consolidation of Contract Compliance Functions for Equal Employment Opportunity, states:

The Secretary of Labor may investigate the employment practices of any Government contractor or sub-contractor to determine whether or not the contractual provisions specified in Section 202 of this order have been violated.

The Lexington-Fayette Urban County Government practices Equal Opportunity in recruiting, hiring and promoting. It is the Government's intent to affirmatively provide employment opportunities for those individuals who have previously not been allowed to enter into the mainstream of society. Because of its importance to the local Government, this policy carries the full endorsement of the Mayor, Commissioners, Directors, and all supervisory personnel. In following this commitment to Equal Employment Opportunity and because the Government is the benefactor of the Federal funds, it is both against the Urban County Government policy and illegal for the Government to let contracts to companies which knowingly or unknowingly practice discrimination in their employment practices. Violation of the above mentioned ordinances may cause an Agreement to be canceled and the contractor may be declared ineligible for future consideration.

Please sign this statement in the appropriate space acknowledging that you have read and understand the provisions contained herein. Return this document as part of your application packet.

Bidders

I/We agree to comply with the Civil Rights Laws listed above that govern employment rights of minorities, women, Vietnam veterans, handicapped, and aged persons.

Name of Business

Brian R. Billings, Vice President

L-M Asphalt Partners, Ltd. dba ATS Construction



The Entity (regardless of whether construction Contractor, non-construction Contractor or supplier) agrees to provide equal opportunity in employment for all qualified persons, to prohibit discrimination in employment because of race, color, creed, national origin, sex or age, and to promote equal employment through a positive, continuing program from itself and each of its sub-contracting agents. This program of equal employment opportunity shall apply to every aspect of its employment policies and practices.

The Kentucky Equal Employment Opportunity Act of 1978 (KRS 45.560-45.640) requires that any county, city, town, school district, water district, hospital district, or other political subdivision of the state shall include in directly or indirectly publicly funded contracts for supplies, materials, services, or equipment hereinafter entered into the following provisions:

During the performance of this contract, the contractor agrees as follows:

- (1) The contractor will not discriminate against any employee or applicant for employment because of race, color, religion, sex, age or national origin;
- (2) The contractor will state in all solicitations or advertisements for employees placed by or on behalf of the contractors that all qualified applicants will receive consideration for employment without regard to race, color, religion, sex, age or national origin;
- (3) The contractor will post notices in conspicuous places, available to employees and applicants for employment, setting forth the provisions of the non-discrimination clauses required by this section; and
- (4) The contractor will send a notice to each labor union or representative of workers with which he has a collective bargaining agreement or other contract or understanding advising the labor union or workers' representative of the contractor's commitments under the nondiscrimination clauses.

The Act further provides:

KRS 45.610. Hiring minorities - Information required

- (1) For the length of the contract, each contractor shall hire minorities from other sources within the drawing area, should the union with which he has collective bargaining agreements be unwilling to supply sufficient minorities to satisfy the agreed upon goals and timetable.
- (2) Each contractor shall, for the length of the contract, furnish such information as required by KRS 45.560 to KRS 45.640 and by such rules, regulations and orders issued pursuant thereto and will permit access to all books and records pertaining to his employment practices and work sites by the contracting agency and the department for purposes of investigation to ascertain compliance with KRS 45.560 to 45.640 and such rules, regulations and orders issued pursuant thereto.

KRS 45.620. Action against contractor - Hiring of minority contractor or subcontractor

- (1) If any contractor is found by the department to have engaged in an unlawful practice under this chapter during the course of performing under a contract or subcontract covered under KRS 45.560 to 45.640, the department shall so certify to the contracting agency and such certification shall be binding upon the contracting agency unless it is reversed in the course of judicial review.
- (2) If the contractor is found to have committed an unlawful practice under KRS 45.560 to 45.640, the contracting agency may cancel or terminate the contract, conditioned upon a program for future compliance approved by the contracting agency and the department. The contracting agency may declare such a contractor ineligible to bid on further contracts with that agency until such time as the contractor complies in full with the requirements of KRS 45.560 to 45.640.
- (3) The equal employment provisions of KRS 45.560 to 45.640 may be met in part by a contractor by subcontracting to a minority contractor or subcontractor. For the provisions of KRS 45.560 to 45.640, a minority contractor or subcontractor shall mean a business that is owned and controlled by one or more persons disadvantaged by racial or ethnic circumstances.



KRS 45.630 Termination of existing employee not required, when

Any provision of KRS 45.560 to 45.640 notwithstanding, no contractor shall be required to terminate an existing employee upon proof that that employee was employed prior to the date of the contract.

KRS 45.640 Minimum skills

Nothing in KRS 45.560 to 45.640 shall require a contractor to hire anyone who fails to demonstrate the minimum skills required to perform a particular job.

In the case of an Agreement exceeding \$250,000, the Contractor will be required within seven (7) days following the Bid Opening to furnish evidence that his work-force in Kentucky is representative of the available work-force in the area from which he draws employees, or to supply an Affirmative Action plan which will achieve such representation during the life of the Contract.

1.10 MWDBE SUBCONTRACTOR PARTICIPATION FORM





OMB Control No: 2090-0030 Approved: 8/13/2013 Approval Expires: 8/31/2015

Disadvantaged Business Enterprise (DBE) Program DBE Subcontractor Participation Form

An EPA Financial Assistance Agreement Recipient must require its prime contractors to provide this form to its DBE subcontractors. This form gives a DBE¹ subcontractor² the opportunity to describe work received and/or report any concerns regarding the EPA-funded project (e.g., in areas such as termination by prime contractor, late payments, etc.). The DBE subcontractor can, as an option, complete and submit this form to the EPA DBE Coordinator at any time during the project period of performance.

Subcontractor Name	Project Na	Project Name	
Bid/ Proposal No.	Assistance Agreement ID No. (if know	wn) Point of Contact	
Address			
Telephone No.	Email Add	lress	
Prime Contractor Name	Issuing/Fu	unding Entity:	

Contract Item Number	Description of Work Received from the Prime Contractor Involving Construction, Services, Equipment or Supplies	Amount Received by Prime Contractor
, vanis oci		

EPA FORM 6100-2 (DBE Subcontractor Participation Form)

¹ A DBE is a Disadvantaged, Minority, or Woman Business Enterprise that has been certified by an entity from which EPA accepts certifications as described in 40 CFR 33.204-33.205 or certified by EPA. EPA accepts certifications from entities that meet or exceed EPA certification standards as described in 40 CFR 33.202.

² Subcontractor is defined as a company, firm, joint venture, or individual who enters into an agreement with a contractor to provide services pursuant to an EPA award of financial assistance.





OMB Control No: 2090-0030 Approved: 0/13/2013 Approval Expires: 8/31/2015

Disadvantaged Business Enterprise (DBE) Program DBE Subcontractor Participation Form

ease use the space below to report any concerns regarding	the above EPA-funded project:
,	
·	
Subcontractor Signature	Print Name
	Data
Title	Date

The public reporting and recordkeeping burden for this collection of information is estimated to average three (3) hours per response. Send comments on the Agency's need for this information, the accuracy of the provided burden estimates, and any suggested methods for minimizing respondent burden, including through the use of automated collection techniques to the Director, Collection Strategies Division, U.S. Environmental Protection Agency (2822T), 1200 Pennsylvania Ave., NW, Washington, D.C. 20460. Include the OMB control number in any correspondence. Do not send the completed form to this address.

EPA FORM 6100-2 (DBE Subcontractor Participation Form)

1.11 MWDBE SUBCONTRACTOR PERFORMANCE FORM





Subcontractor Name

Bid/ Proposal No.

OMB Control No: 2090-0030 Approved: 8/13/2013 Approval Expires: 8/31/2015

Disadvantaged Business Enterprise (DBE) Program DBE Subcontractor Performance Form

Point of Contact

This form is intended to capture the DBE¹ subcontractor's² description of work to be performed and the price of the work submitted to the prime contractor. An EPA Financial Assistance Agreement Recipient must require its prime contractor to have its DBE subcontractors complete this form and include all completed forms in the prime contractors bid or proposal package.

Assistance Agreement ID No. (if known)

Project Name

Address				
Telephone No. Prime Contractor Name		Email Address		
		Issuing/Funding Entity:		
		rk Submitted to the Prime Contractor ion, Services , Equipment or Supplies	Price of Work Submitted to the Prime Contractor	
		I DD 115 115 11 11 11 11 11 11 11 11 11 11 1	4-2	
DBE Certified By: DOT	SBA	Meets/ exceeds EPA certification standar	ras:	
Other:		YESNOUnknown		

EPA FORM 6100-3 (DBE Subcontractor Performance Form)

¹ A DBE is a Disadvantaged, Minority, or Woman Business Enterprise that has been certified by an entity from which EPA accepts certifications as described in 40 CFR 33.204-33.205 or certified by EPA. EPA accepts certifications from entities that meet or exceed EPA certification standards as described in 40 CFR 33.202.

² Subcontractor is defined as a company, firm, joint venture, or individual who enters into an agreement with a contractor to provide services pursuant to an EPA award of financial assistance.





OMB Control No: 2090-0030 Approved: 8/13/2013 Approval Expires: 8/31/2015

Disadvantaged Business Enterprise (DBE) Program DBE Subcontractor Performance Form

I certify under penalty of perjury that the forgoing statements are true and correct. Signing this form does not signify a commitment to utilize the subcontractors above. I am aware of that in the event of a replacement of a subcontractor, I will adhere to the replacement requirements set forth in 40 CFR Part 33 Section 33.302 (c).

Prime Contractor Signature	Print Name
Title	Date
	Delat Name
Subcontractor Signature	Print Name
Subcontractor Signature Title	Print Name Date

The public reporting and recordkeeping burden for this collection of information is estimated to average three (3) hours per response. Send comments on the Agency's need for this information, the accuracy of the provided burden estimates, and any suggested methods for minimizing respondent burden, including through the use of automated collection techniques to the Director, Collection Strategies Division, U.S. Environmental Protection Agency (2822T), 1200 Pennsylvania Ave., NW, Washington, D.C. 20460. Include the OMB control number in any correspondence. Do not send the completed form to this address.

EPA FORM 6100-3 (DBE Subcontractor Performance Form)

1.12 MWDBE SUBCONTRACTOR UTILIZATION FORM





OMB Control No: 2090-0030 Approved: 8/13/2013 Approval Expires: 8/31/2015

Disadvantaged Business Enterprise (DBE) Program DBE Subcontractor Utilization Form

This form is intended to capture the prime contractor's actual and/or anticipated use of identified certified DBE¹ subcontractors² and the estimated dollar amount of each subcontract. An EPA Financial Assistance Agreement Recipient must require its prime contractors to complete this form and include it in the bid or proposal package. Prime contractors should also maintain a copy of this form on file.

Prime Contractor Name		Project Name		
Bid/ Proposal No. Assistance Agreement I		No. (if known)	Point of Contact	
Address				
Telephone No.		Email Address		
Issuing/Funding Entity:				
I have identified potential DE certified subcontractors	BE	YES	_	, NO
If yes, please complete the ta	ble below. If no, please expla	nin:		
Subcontractor Name/ Company Name	Company Addre	ss/ Phone/ Ema	il Est. Dollar Amt	Currently DBE Certified?

EPA FORM 6100-4 (DBE Subcontractor Utilization Form)

¹ A DBE is a Disadvantaged, Minority, or Woman Business Enterprise that has been certified by an entity from which EPA accepts certifications as described in 40 CFR 33.204-33.205 or certified by EPA. EPA accepts certifications from entities that meet or exceed EPA certification standards as described in 40 CFR 33.202.

² Subcontractor is defined as a company, firm, joint venture, or individual who enters into an agreement with a contractor to provide services pursuant to an EPA award of financial assistance.





OMB Control No: 2090-0030 Approved: 8/13/2013 Approval Expires: 8/31/2015

Disadvantaged Business Enterprise (DBE) Program DBE Subcontractor Utilization Form

I certify under penalty of perjury that the forgoing statements are true and correct. Signing this form does not signify a commitment to utilize the subcontractors above. I am aware of that in the event of a replacement of a subcontractor, I will adhere to the replacement requirements set forth in 40 CFR Part 33 Section 33.302 (c).

Prime Contractor Signature	Print Name
Title	Date

The public reporting and recordkeeping burden for this collection of information is estimated to average three (3) hours per response. Send comments on the Agency's need for this information, the accuracy of the provided burden estimates, and any suggested methods for minimizing respondent burden, including through the use of automated collection techniques to the Director, Collection Strategies Division, U.S. Environmental Protection Agency (2822T), 1200 Pennsylvania Ave., NW, Washington, D.C. 20460. Include the OMB control number in any correspondence. Do not send the completed form to this address.

EPA FORM 6100-4 (DBE Subcontractor Utilization Form)

1.13 MWDBE PARTICIPATION POLICY



PROJECT NAME:	Expansion Area 3 Trunk Sewer Project Lexington-Fayette Urban County Government
LEUCG BID NO.	BID DATE:

	LFUCG BID NO.	BID DATE:
A.	Name, address and teleph	one number of contact person on all MWDBE matters:
	Prime Contractor's Name Contact Person: Address: Phone: Email: Total Contract Amount:	Cell:
В.	Total dollar amount/perce	nt of contract of DBE participation:
C.	Total dollar amount/perce	nt of contract of MBE participation:
D.	Total dollar amount/perce	nt of contract of WBE participation:
	Yes No	h MWDBE subcontractor enclosed; if no, please explain:
	explain: Yes	□ No
G.	List of DBE Subcontractor	rs:
н.	Address: Phone: Email: Type of Contract:	Cell:
	Phone: Email: Type of Contract: Work to be Done: Amount:	Cell:



	Narr	ıe	
		tact Pers	on:
	Add	ress:	
	Pho	ne:	Cell:
	Ema	ail:	
	Type	e of Cont	ract:
		rk to be C	······································
	Amo	ount:	
844b		Manal al	neets, if necessary.
	ertific	ation: Se	if-certification of MWDBE firms will NOT be accepted as a valid form of certification
J.		rmation h efforts	and documentation concerning efforts taken to comply with EPA's "six good"
	1.	opportur including sources. http://tra	MWDBE construction firms or material suppliers are made aware of contracting nities to the fullest extent practicable through outreach and recruitment activities; placing MWDBEs on solicitation lists and soliciting them whenever they are potential. A good source for a list of MWDBEs is the Kentucky Transportation's website: nsportation.ky.gov/Civil-Rights-and-Small-Business-Development/Pages/Certified-ectory.aspx.
		vend	prime contractor certifies that a bidders list (see example sheet below) of qualified dors, including MWDBEs, was developed for current and future solicitations and that list will be maintained. Submit a copy of the list as documentation.
	2.	frames f way that including	formation on forthcoming opportunities available to MWDBEs and arrange time for contracts and establish delivery schedules, where the requirements permit, in a encourages and facilitates participation by MWDBEs in the competitive process; g, whenever possible, posting solicitation for bids or proposals for a sufficient amount as to receive a competitive bid or proposal pool.
		MW	prime contractor certifies that every opportunity was provided to a number of DBEs to encourage their participation in the competitive process and that an quate amount of time was provided for response.
		a.	List each MWDBE construction firm or material supplier to which a solicitation was attempted. Submit copies of letters, emails, faxes, telecommunication logs, certified mail receipts, returned envelopes, certified mail return receipts, etc. as documentation.
			Company Name and Phone Number:
			Area of Work Expertise:
			Date of any Follow-Ups and Person Spoke to:
		b.	Advertisements, if applicable: List each publication in which an announcement or notification was placed. Submit a tear sheet of each announcement from each publication as documentation.
			Name of Publication:
			Date(s) of Advertisement:
			Specific Subcontract Areas Announced:



	c. Other, if applicable: List each notification method in which an announcement or outreach was used; list serve, public meeting, etc. Submit applicable information to document effort.
	Method of Notification:
	Date(s) of Notification:
3.	Consider in the contracting process whether firms competing for large contracts could subcontract with MWDBEs; including dividing total requirements, when economically feasible, into smaller tasks or quantities to permit maximum participation by MWDBEs in the competitive process.
	The prime contractor certifies that the project was broken into its basic elements (i.e. dirt hauling, landscaping, painting, pipe installation, material supplies, etc.) and that a determination was made whether it's economically feasible to bid the elements separately and that the analysis of this effort was documented with a short memo to the project file.
4.	Establishing delivery schedules, where the requirement permits, which encourage participation by small and minority business, and women's business enterprises.
	The prime contractor certifies that they established delivery schedules which would allow MWDBEs to participate in the projects.
5.	Use the services and assistance of the Small Business Administration (SBA) and the Minority Business Development Agency (MBDA) of the U.S. Department of Commerce. The easiest way to utilize the services of SBA and MBDA is to visit their websites: www.sba.gov and www.mbda.gov and use the electronic tools available there or you may send the nearest SBA and MBDA office a certified letter that generally describes the solicitation, the dates it will be open, the types of vendors you are seeking and applicable SIC or NAIC codes if known. You may also use the services and assistance of the Kentucky Procurement Assistance Program (KPAP). The easiest way to utilize the services of KPAP is to send an email: ced.kpap@ky.gov and provide information on forthcoming opportunities available to MWDBEs.
	■ The prime contractor certifies that the assistance of the SBA, MBDA, and/or KPAP was utilized. Submit pages printed off the SBA and MBDA websites which evidence efforts to register a solicitation on those sites or submit copies of the letter send and certified mail receipt as documentation; submit copies of emails with KPAP as documentation.
6.	If a subcontractor awards any subcontracts, require the subcontractor to take the steps in numbers 1 and 5 above.
	The prime contractor certifies that subcontractors used for this project will be required to follow the steps of the "six good faith efforts" as listed above.
Signature	and Date:
To the best contained in representation	of my knowledge and belief, all "six good faith efforts" have been met and the information this document is true and correct; the document has been duly authorized by the legal tive.
Signature	Print Name and Title
Date	

Name of Organization:	L-M Asphalt Partners, Ltd.	t Partne	rs, Ltd.	dba ATS	dba ATS Construction	ction	Date	8 / 8	, 17
Categories	Total	Wh	White	Bla	Black	O	Other	Total	tal
	1810	M	F	M	Ľ.	M	ш	Σ	ш
Administrators									
Professionals		See Page	ge 24A -	Attached					
Superintendents									
Supervisors									
Foremen									
Technicians									
Protective Service									
Para-Professionals									
Office/Clerical									
Skilled Craft									
Service/Maintenance									,
Total									

Prepared By:

PR Department of Labor EEO-1 Report

Company: 6 ATS CONSTRUCTION

Job						(Repo	Number of Employees (Report employees in only one category)	r of Erres in o	Number of Employees mployees in only one o	: category)					
Categories							Ra	Race/Ethnicity	icity						
	Hisp	Hispanic or					Not-H	ispanic	Not-Hispanic or Latino						ļ
	۲	Latino				ž	Male				Female	ale			lotal
	Male	Male Female	White	Black or African	Native Hawaiian	Asian	American Indian or	Two or	White	Black or African	Native Hawaiian	Asian	American Indian or	Two	A - N
				American	or Other Pacific Islander		Alaska Native	more		American	or Other Pacific Islander		Alaska Native	more races	
	A	В	С	a	ш	Ŀ	9	Ξ	-	7	¥	_	Σ	z	0
Unassigned	0	0	က	0	0	0	0	0	0	0	0	0	0	0	е
Professionals	0	0	4	0	0	0	0	0	0	0	0	0	0	0	4
Technicians	0	0	0	0	0	0	o	0	-	0	0	0	0	Q	-
Laborer	6	0	85	1	0	0	0	0	7	0	0	7	0	0	26
Foremen	0	0	26	0	0	0	0	0	0	0	0	0	0	0	26
Equipment Operators	2	0	77	-	0	-	0	0	r)	-	0	0	0	0	87
Mechanics	0	0	14	0	0	0	٥	0	0	0	0	0	0	0	14
Truck Drivers	0	0	14	0	0	0	0	0	-	0	0	0	0	0	15
Carpenters	0	0	80	0	0	0	0	0	0	0	0	0	0	0	80
Clerical	0	0	-	0	0	0	0	0	0	0	0	0	0	0	1
Total	5	0	232	2	0	_	0	0	14	1	0	1	0	0	256
Previous Year Total	6	0	325	-	0	-	0	0	24	1	0	-	.0	0	362
Date(s) of payroll perlod used: 07/17/17-07/23/17 (Omit on the Consolidated Report.)	-07/23/1	(Omit or	the Cons	olidated Rep	or.)										3009 Atkinson Avenue Suite 400 Lexinglon, Kentucky 40509
9						Page 1								08/02/17	17 9.34:20AF

PREEODot.rp



CERTIFICATE OF LIABILITY INSURANCE

OP ID: KW

07/31/2017

THIS CERTIFICATE IS ISSUED AS A MATTER OF INFORMATION ONLY AND CONFERS NO RIGHTS UPON THE CERTIFICATE HOLDER. THIS CERTIFICATE DOES NOT AFFIRMATIVELY OR NEGATIVELY AMEND, EXTEND OR ALTER THE COVERAGE AFFORDED BY THE POLICIES BELOW. THIS CERTIFICATE OF INSURANCE DOES NOT CONSTITUTE A CONTRACT BETWEEN THE ISSUING INSURER(S), AUTHORIZED REPRESENTATIVE OR PRODUCER, AND THE CERTIFICATE HOLDER.

IMPORTANT: If the certificate holder is an ADDITIONAL INSURED, the policy(ies) must be endorsed. If SUBROGATION IS WAIVED, subject to the terms and conditions of the policy, certain policies may require an endorsement. A statement on this certificate does not confer rights to the certificate holder in lieu of such endorsement(s).

PRODUCER GCH Insur	ance Group derstick Dr Sto. 1104	CONTACT NAME: PHONE (A/C, No, Ext); (A/C, No	o):
	KY 40505	E-MAIL ADDRESS: PRODUCER CUSTOMER ID #; LMAS P-2	
		INSURER(S) AFFORDING COVERAGE	NAIC#
INSURED	L-M Asphalt Partners LTD	INSURER A : Charter Oak Fire	25615
	dba ATS Construction 3009 Atkinson Ave., Ste 400 Lexington, KY 40509	INSURER B : Travelers Property Casualty	25674
		INSURER C: Kentucky Employer's Mutual Ins	10320
		INSURER D : Starr Surplus Lines Insurance	13604
		INSURER E:	24
		INSURER F:	

COVERAGES

CERTIFICATE NUMBER:

THIS IS TO CERTIFY THAT THE POLICIES OF INSURANCE LISTED BELOW HAVE BEEN ISSUED TO THE INSURED NAMED ABOVE FOR THE POLICY PERIOD INDICATED. NOTWITHSTANDING ANY REQUIREMENT, TERM OR CONDITION OF ANY CONTRACT OR OTHER DOCUMENT WITH RESPECT TO WHICH THIS CERTIFICATE MAY BE ISSUED OR MAY PERTAIN, THE INSURANCE AFFORDED BY THE POLICIES DESCRIBED HEREIN IS SUBJECT TO ALL THE TERMS, EXCLUSIONS AND CONDITIONS OF SUCH POLICIES. LIMITS SHOWN MAY HAVE BEEN REDUCED BY PAID CLAIMS.

	CLUSIONS AND CONDITIONS OF SUCH				POLICY EFF	POLICY EVE			
NSR LTR	TYPE OF INSURANCE	INSR	SUBR	POLICY NUMBER	(MM/DD/YYY)	POLICY EXP (MM/DD/YYYY)	LIMITS	<u> </u>	
	GENERAL LIABILITY						EACH OCCURRENCE	\$	1,000,000
A	X COMMERCIAL GENERAL LIABILITY	x	X	DT CO 3E855071 COF	04/01/2017	04/01/2018	DAMAGE TO RENTED PREMISES (Ea occurrence)	s	300,000
	CLAIMS-MADE X OCCUR	'`					MED EXP (Any one person)	\$	10,000
	55 and m/22						PERSONAL & ADV INJURY	s	1,000,000
							GENERAL AGGREGATE	\$	2,000,000
	GEN'L AGGREGATE LIMIT APPLIES PER						PRODUCTS - COMP/OP AGG	S	2,000,000
	POLICY X PRO-							\$	
	AUTOMOBILE LIABILITY	X	X		04949047	04/01/2018	COMBINED SINGLE LIMIT (Ea accident)	s	1,000,000
В	X ANY AUTO			DT 810 3E855071 TIL	04/01/2017	04/01/2018	BODILY INJURY (Per person)	\$	
	ALL OWNED AUTOS						BODILY INJURY (Per acadent)	\$	
	SCHEDULED AUTOS HIRED AUTOS						PROPERTY DAMAGE (PER ACCIDENT)	\$	
	X NON-OWNED AUTOS		1					5	
	NON-DWINED AUTOS		1					\$	
	X UMBRELLA LIAB X OCCUR						EACH OCCURRENCE	5	2,000,000
	EXCESS LIAB CLAIMS-MADE		١.,		04/01/2017	04/01/2018	AGGREGATE	\$	2,000,000
В	DEDUCTIBLE	1	X	CUP 0J675466	04/01/2017	04/01/2010		\$	
	X RETENTION \$ 10,000		1					s	
	WORKERS COMPENSATION						WC STATU- TORY LIMITS X OTH-		
С	AND EMPLOYERS' LIABILITY ANY PROPRIETOR/PARTNER/EXECUTIVE ANY		1	397322	04/01/2017	04/01/2018	EL EACH ACCIDENT	5	1,000,000
	OFFICER/MEMBER EXCLUDED?	N/A					E L DISEASE - EA EMPLOYEE	\$	1,000,000
	If yes, describe under DESCRIPTION OF OPERATIONS below						E L DISEASE - POLICY LIMIT	S	1,000,000
D	Pollution Liab			1000066589171	04/01/2017	04/01/2018	Occ/AGG		1,000, 000
							DED		25,000

DESCRIPTION OF OPERATIONS/LOCATIONS/VEHICLES (Attach ACORD 101, Additional Remarks Schedule, if more space is required) invitation to Bid #59-2017 Expansion Area 3 Trunk Sewer Project, Lexington Kentucky. Certificate holder is an additional insured in regards to auto & general liability, the general liability is primary. Policies contain a 30 day cancellation clause.

CERTIFICATE HOLDER		CANCELLATION
Lexington-Fayette Urban	LFUCG00	SHOULD ANY OF THE ABOVE DESCRIBED POLICIES BE CANCELLED BEFORE THE EXPIRATION DATE THEREOF, NOTICE WILL BE DELIVERED IN ACCORDANCE WITH THE POLICY PROVISIONS.
County Government Division of Central Purchasing 200 E. Main St. Lexington, KY 40507		John W. Hanpton

© 1988-2009 ACORD CORPORATION. All rights reserved.

LEXINGTON-FAYETTE UBAN COUNTY GOVERNMENT CONTRUCTION PROJECT (Use separate form for each Agency or Brokerage agreeing to provide coverage)

Address: Project to be insured:	e insured:					
In tieu of ob below. The	In the of obtaining certificates of insubelow. These are outlined in the Insu	In the of obtaining certificates of insurance at this time, the undersigned agrees to provide the above Named Insured with the minimum coverage listed below. These are outlined in the Insurance and Risk Management of Section 00600 - Bonds and Certifications, including all requirements, and conditions.	provide the above Named In 0 - Bonds and Certifications,	sured with the minimum c including all requirements	overage list	ited litions:
Article		Management of the particular o	Limits Provided to	Name of Insurar	A.M. Best's	este
Items	Coverage		Insured		Code	Rating
1.05.D.1	CGL	\$1,000,000/per occ., \$2,000,000/aggregate or \$2,000,000 combined single limit Requirements (a) through (e)				
1.05.D.1	Auto	Combined single \$1,000,000/per occ. aggregate Requirements (a) through (c)				
1.05.D.1	wc	\$ Statutory				
1.05.D.1	Employer's Llability	\$500,000				

Section 00600 includes required provisions, statements regarding insurance requirements, and the undersigned agrees to abide by all provisions for the coverage's checked above unless stated otherwise when submitting

Agency or Brokerage	Name of Authorized Neptresentative
Street Address	Title
City	Authorized Signalure
Telephone Number	Dale

authorized signature must be that of authorized representative of insurer.

IMPORTANT: CONTRACT MAY NOT BE AWARDED IF A COMPLETED AND SIGNED COPY OF THIS FORM FOR ALL COVERAGES LISTED ABOVE IS NOT PROVIDED.

Names Insured:



1.17 DEBARRED FIRMS

PROJECT NAME:

Expansion Area 3 Trunk Sewer Project

LFUCG BID NO .:

59-2017

LEXINGTON-FAYETTE URBAN COUNTY GOVERNMENT LEXINGTON. KY

All prime Contractors shall certify that Subcontractors have not and will not be awarded to any firms that has been debarred for noncompliance with the Federal Labor Standards, Title VI of the Civil Rights Act of 1964 As Amended, Executive Order 11246 As Amended or any other Federal Law

All Bidders shall complete the Debarment Certification in duplicate and submit both copies to the Owner with the Bid Form. The Owner (grantee) shall transmit one copy to the Lexington-Fayette Urban County Government, Division of Community Development within fourteen (14) days after Bid opening.

L-M Asphalt Partners, Ltd.

The undersigned hereby certifies that the firm of dba ATS Construction has not and will not award a subcontract, in connection with any Agreement award to it as the result of this bid, to any firm that has been debarred for noncompliance with the Federal Labor Standards, Title VI of the Civil Rights Act of 1964, Executive Order 11246 As Amended or any Federal Law.

L-M Asphalt Partners, Ltd. dba ATS Construction

Name of Firm Submitting Bid

Signature of Authorized Official

Brian R. Billings, Vice President

Title

August 8, 2017

Date

1.18 DEBARMENT CERTIFICATION



All Contractors/Subcontractors shall complete this certification.

The Contractor/Subcontractor certifies in accordance with Executive Order 12549 (Debarment and Suspension 2/18/86) that to the best of its knowledge and belief, that it and its principals:

- Are not presently debarred, suspended, proposed for debarment, declared negligible, or voluntarily excluded from covered transactions or contract by any Federal department or agency for noncompliance with the Federal Labor Standards, Title VI of the Civil Rights Act of 1964 As Amended, Executive Order 11246 As Amended or any other Federal Law.
 - a) Have not within a three year period preceding this Bid been convicted of or had a civil judgment rendered against them for commission of fraud or a criminal offense in connection with obtaining, attempting to obtain, or performing a public (Federal, State or local) transaction or contract under a public transaction; violation of Federal or State antitrust statutes or commission of embezzlement, theft, forgery, bribery, falsification or destruction of records, making false statements or receiving stolen property;
 - b) Are not presently indicted for or otherwise criminally or civilly charged by a government entity (Federal, State or local) with commission of any of the offenses enumerated in paragraph (1)(a) of this certification; and
 - c. Have not within a three (3) year period preceding this Bid has one or more public (Federal, State or local) transactions or contracts terminated for cause or default.
- Where the Contractor is unable to certify to any of the statements in this certification, such prospective contractors shall attach an explanation to this certification form.

Firm Name:	L-M Asphalt Partners, Ltd. dba ATS Construction
	LFUCG Bid No.: 59-2017 Expansion Area 3 Trunk Sewer Project
Project:	
Printed Name:	Brian R. Billings
Title of Authorized Repre	
Signature:	Ber B. Belly V.P.
Date:	August 8, 2017



Certification for Contracts, Grants, Loans, and Cooperative Agreements

The undersigned certifies, to the best of his or her knowledge and belief, that:

- (1) No Federal appropriated funds have been paid or will be paid, by or on behalf of the undersigned, to any person for influencing or attempting to influence an officer or employee of an agency, a Member of Congress, an officer or employee of Congress, or an employee of a Member of Congress in connection with the awarding of any Federal contract, the making of any Federal grant, the making of any Federal loan, the entering into of any cooperative agreement, and the extension, continuation, renewal, amendment, or modification of any Federal contract, grant, loan, or cooperative agreement.
- (2) If any funds other than Federal appropriated funds have been paid or will be paid to any person for influencing or attempting to influence an officer or employee of any agency, a Member of Congress, an officer or employee of Congress, or an employee of a Member of Congress in connection with this Federal contract, grant, loan, or cooperative agreement, the undersigned shall complete and submit Standard Form-LLL, "Disclosure Form to Report Lobbying," in accordance with its instructions.
- (3) The undersigned shall require that the language of this certification be included in the award documents for all sub-awards at all tiers (including subcontracts, sub-grants, and contracts under grants, loans, and cooperative agreements) and that all sub-recipients shall certify and disclose accordingly.

This certification is a material representation of fact upon which reliance was placed when this transaction was made or entered into. Submission of this certification is a prerequisite for making or entering into this transaction imposed by Section 1352, Title 31, U.S. Code. Any person who fails to file the required certification shall be subject to a civil penalty for not less than \$10,000 and not more than \$100,000 for each such failure.

Brian R. Billings, Vice President L-M Asphalt Partners, Ltd. dba ATS Co	nstruction	
Typed Name & Title of Authorized Representative		
Bin R. Belling V.P.	August 8, 2017	
Signature of Authorized Representative	Date	
I am unable to certify to the above statements. My explanation is attached.		



POWER OF ATTORNEY

(Attach to Bid Bond)

END OF SECTION